()

1
1991
28)
31) 39)
2

25),26)

46)

1) 24)
27)

W)\

Cj 12N

P
h
"9 [2)
(@ (b)
/
+S
. [> m%mw
+6, h
(©) (d)
1
21
1
g=dll=6lcotw
s o)
0
1(d)
1
2.2
w @
2(a) P =mtan(o—¢)

Py



2.3

P=wtan(w—g)
w

Pp=Wtan(w+¢)

© 4
(2)
/'{ P
e P P ar_,
do
PA
R w
w4
( )
® ©
3 u
E = —uP = —uP cos(a + 6)
Po=Wtanw
Py
F
Pp=Wtan(w+¢)
2 3
3 @ 3) 2
dE d°E
—=0, 0 3
dw dw? > (3
S2 4
—ucos(ats) w
E P
w
2.4
4 5(a)
(1) (o >
sin(w-¢)
P= 1
Cos(a)7¢§fa75) @
’ 5(a) ab
P () o
@7 2 2 5
(2
dp a2p a
—=0, —=<0 2
do dw? < @



ac’

25

1991

9m

(o
57)
55)

10m
40)

5(b)

56)

ab

g=10kN/m?

L

%
0.50m A
. _050m

3=33.69
H=15(m)

B(m)

7=20 KN/m?

H=13(m) $=35

H=11(m) H

o H=9(m)

9m 1im 15m
Oom im 5m

45)
6
4
4.1
40)
3m 9m
(HyH) 0 025 05 0.75 10
Ho/H =0.3
Ho/H =0.5
Hy/H =0.3
B e 2 F,
F, F,
F>3.0
1/3



=0.5
0.3

W HolH=(

0 HolH=(

~N © 0 M N - O

HS0=H  H

A2 A2

Y.

M2 Al

S52

S62

H11

H21 ()

H(m)

0.5

=4m 7m

H:

0.3

4.2

FAX

5

8

1991

52

62

52

51

31

52

42

62

52

48

11

42 48

=35

1:15



14

9 (=35 )
hy/h 0 1.0
Kyp K,y
H21 () - (
21 11 )
11
6
6.1
Trial Wedge Method
(Morsch
1925 )5V

62

q=10kN/m?

4=10KN/m? £ = Lhilll
I aaneyy) 5 >
o P, 13 -
<« 3
36m ‘ 36m ‘
i : ‘ \ \
\ F-[Elaa0[, m-Zra0  p-THugs
12 » . :
10 \\ ., > ¢ 7‘— i
AN
I ——
2 >
0
0 1767 5 10 15 20 25
Hy(m)
10 T
10

=20kN/m* =35
1=0.6
1.767m

¢,=900kN/m?

Trial Wedge Method

6.2

11(a)

12(b)

Y



7.2

13(a)
abc
W (=Wi+Wy) R1 R
Ri R (4)

Wsin(a)2 7¢)
Ry =— )
sm(a;l +wy — 2¢)
13(b)
i adc
Wy ac
Ry Py P, o)
S Py ()

__Wwsin(w - ¢)
ke = Sin(a)l+ Wy — 2¢) @

(b) (6)

_1 W~ Ry codw; — ¢) )
Rysin(ay - )

_ Wi+ Risin(w-¢)

B cosé

11 §=tan

Py (6)

12

7.1

46)

12(a)

12(b)

() abd adc



P =P 0085

14
abd
S Py
P,cosd wW; W>
Py
W3
14 wW; Wy
Excel
P,c0sd R>
R> Py
2.3
u R,
—uR,SiN(w,- ) P, —uP,C0S0
13
( ) R>
P, R
W, W2
iPA coss =0, LPA coss =0 (7)
O 0w,
0 . 0 .
a—a,lesn(wz—¢)=0, @stn(wz—¢)=o ®)
0 . 0 .
aklsn(aa—¢)=0, %Rlsn(aa—¢)=0 ©
S

11(b)

73
S,
15
R.
Ry R,
R.  h.
(10)  (12) o 3.

e

P W secOsin(w, — ¢ — 0)+ R, coslw, — ¢+ 5, + )

. sin(a;l +wy — 2¢) (10)
X _ WsecOsin(oy —¢—60)- R, coslw, — -5, — )

2" Sin(e, + @, — 29)

5= tan~t 1~ Ry coslo; - 4)

11
Wy tan 6+ Ry sin(e; — ¢) (D
PA:VI/ltan9+Rlsin(a)—¢) (12)
cosd
16
0



0.34 K,=0.333 25
033 5,220
032 K, 20 ~2 g
7 L
X, %_331 K,=0.297 LS
0.29 10
0.28
5
oz . RI=Z %
7o 02 04 06 08 1 0 02 04 06 08 1 H =
L/H L/H 751 x 735y 7\ 619
@ (b) ( ) 04}
1&=18 &5
L
L " (a) Sand Paper Wall =42 3=42 (b) GlassWall =42 >=16
7777 VAZaZ4 7
P 18
A
H 5 P,
A < 6 1 14
K,=0.207 K,=0333 >
5=6=20 5=
L/H=0 L/H=03 L/H=0.6 01
15
(C) 8 5 10
10 73
16
c=10kN/m?
$=20
6 y=16kN/m?
E=20MN/m?2
v=03
@ ( 1990.1)  (b)
19 FEM
0
0 20 40 60 80 100 0 20 40 60 80 100
(cm) (em)
i
L=TTFEl MR AR
0.15
0 20 40 60 80 100
(cm)
=40
20
17
7.4 0.50
Fiel ZABDTARZ—
(a) FEM ( 2001.6) (b)
4.30) 20 FEM
25),30),32) FEM
52)
26),32),48) 50) 19 S2
55)
25),30),32) 20
17 L
18 FEM 36
( 2001.6) 59)
7.5 FEM



FEM

q
NMMIN%SMNW o
8 R=R, W=y
8.1 () i
1999 8 ( )® R\ | "
() -
@
21(a)
3=0 i
21(b)
o)
(b)
21
) (_\Mtam:awo .
) q=10kN/md
JLLIATTL
e
I v s=20kN/n’
A Vi sum
g et |
()® 324 = P /2%
( VA -
2 ) =2 &3
p3-15 3 H-3.2.4 TEOEF
22 ()
8.2
( )58)
23
L 59)



q=10kN/m?

=10kN/m?

q (m) (m)
WY { ‘1o 1 om
0.90
1.15
1.45
1.70
1.95
2.25
)
0.0
0 3 4
H(m)
23
9
9.1
1991 11
2)
(
)
GLEM( )
(1997)
(1998)
1998
30)
1999 9

40

10

9.2

9.3
1997

10

31

9m

12



16
3
9.4 L
KOOGE WALL
( )
L
L KOOGE WALL
2000 4
10
60)
>
>
24
ab abed
Py (13)
(17)
W, sing 2
Py =2a3NP ] oy + cotg —yJtany — 13
0 cosl//{\/'// ¢\/l//77} (13)

11

hy b %% d
A
h Py
)
AL
® o,
a
24
q
b byiily
b b p
B
P42
-0
éj
@, Pa1 D
a a
25
y=9¢+05
__m
n= W,
w, =%(H+h)2 +q(H +h)
w, :Lh(mﬁJ
2tan g 1%
ab abc
S B
1, cos? ¢
Py, :EJ’H _ : >
0035{1+ \/sn(¢—5)sn(¢+ﬁ)}
COSO CoS 3
o)
(19) Pe)
o)
Pp=Pp
(13) (18)

(14)

(15)

(16)

(17

(18)

(19)



Py

wW; W
(20) (21)
57)
) = tant 1 (20)
Jltan(g +5)+ cot gfftan(p + 5) - ~tan(g + &)
P cos(g— 5+ ) p o
cosssinlp=5) g 5
\/cosﬂsin((,ﬁ—ﬂ) sin(¢-5-5)
26
q Py Py
(22) (23)
2
PA1:%7H2 cos ¢ > (1+2—I_q1] (22)
Cc0So<1+ M ’
CoSo
PA2 = %7]‘]2 COSZ ¢ 3 (23)
c055{1+ sin(¢—5)sin¢}
Ccoso
Py1=Pyp (24)
o)
( )
l+\/sin(¢—§)sin¢ l+2_q_\/sin(¢+5)sin¢ 10 (2
cosd yH cosd
2 27 28 61)
R

N
S
N
S
N
\
N

26

12

¢=10kN/m?

2222222222

™ F

1:1.5 |, #3869 15m

7=20kN/m?3
#=35

/ =0
PA=154/.,8’2kN/m 6.5m

| ‘4’/3,:26.46

\ ©,=56.4

@,=75.5
27
4=20kN/m?
A l Y A l
J=18KN/m?
S ¢=30
4.0m P,=66B6kN/IM .-
| e—e/5=1950

29

11

29



14)

49
3 pp.1084-1085 1994.9
15)
4
ppl-2 1994.10
16)
30 pp.1729-1730
1995.7
17)
46
pp358-359 1994.5
18) Rankine
30
ppl725-1726
1) 19)
3
pp44-47,1991.10 pp9-12 1996.12
2) 20) c @
pp39-40 1991.11 pp55-56  1995.11
3) 21)
27 45
pp.1819-1820 1992.6 pp360-361
4) 1993.
a4 22)
pp.406-407 56 (
1992.5 ) 2002.9
5) 23)
47 2 56
pp86-88,1992.10 ( ) 2002.9
6) 24)
28 3 56
pp2069-2070 1993.6 ( ) 2002.
7) 25)
2 45
pp362-363 1993.5 No0.567/ -35, p189-198 1997.
8) 9 26)
1993.5 (ITWM)
9) 30 No0.602/ -40 ppl51-156 1998.
1995.11 27)
10) 7 2 Vol.54 No.8 1999.
1996.2 28)
11) pp32-33  1994.2
3 46 29)
pp356-357 1994.5 Vol.13 2001.10
12) 30)
47 1997.7
3 pp.958-959 1992.9 31) Q&A 1995
13) 32) 1998
33) 1998
pp35-36 1994.11 34)

13



1999 L
35) Excel 2000 60)
36) Q&A 2000 Vol.58 No.3
37) 61)

BP 2004. 21
38) 20009.

Q&A105 2005.
39) Analysis and Design of RETAINING
WALL( ) DAESAN CIVIL TECHNOLOGY
2006.
40)
2 1987
41) 1956.5
42) 1967.5
43) 1953.5
44)
1977.1
45)
1987.5

46) 1999.3
47)
2009.11
48)

pp57-58 1995.11
49)
31
pp1939-1940 1996.6
50)

ppl9-20 1996.12

51)
8 6  pp332-340 1934
52)
1990.1
53) L
36
( )2001.6
54)
1970.1
55)
10-5,1924.

56) Okabe.S. General Theory on Earth Pressure and
Sesmic Stability of Retaining Wall and Dam
10-6 1924.
57) John N. Cernica  Foundation Design Handbook
John Wiley & Sons pp.288 1995.
58) ()
1999.11
59)

14

2003.

1999.5



